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Q.No: 7

Harshavardhana became the king of Thaneshwar after the death of his brother
Kirtivardhan

Grihavarman

Rajyavardhana

Indravardhana

Where and when did the first rebellion of the Indian soldiers in the British army happen?
Patna in 1853

Barrackpore in 1855

Meerut in 1857

Vellore in 1854

The largest peninsular river of India is and it drains into

Krishna, Arabic Sea
Mahanadi, Bay of Bengal
Godavari, Bay of Bengal

Narmada, Arabic Sea

Which of the following rivers is known as Dakshin Ganga?
Mahanadi

Kaveri

Godavari

Krishna

Through which of the following Acts, a separate electorate system for Muslims was introduced in India?
Government of India Act 1935

Indian Charter Act 1813

Indian Council Act 1909

Indian Council Act 1919

Who is known as the ‘Bard of Bengal’?
Jawaharlal Nehru

Sardar Vallabhbhai Patel
Rabindranath Tagore

Subhash Chandra Bose

Which committee recommended the formation of a central bank?

Sergeant commission

EMPLOYEES SELECTION BOARD , BHOPAL

Police Constable Recruitment Test - 2023

e U FOg g umR
Fifdadq

Igaq
EECUL

fofewr & & wRdia 3T &1 vgen RAEE F9 o
1853 ¥ v

1855 #f PR

1857 # ¥Xe

1854 ¥ Iw@R

BIGEIRESER R iprcic e BN I
P, 3RT TR

TS, W 1 WISt
Tiieradl, dure @t @

e, SR AR

g # & e 7t 1 <o i % W A S S
HETTa

Fd

Tt

P

fofafea & 3 fea ofifgy gri, YRa & gaemr
WRd TRER w1935
YRAMT TR Sfifam 1813
YR uftug siftfra 1909
yRdE uiveeg A 1919

S BT TS ol agT STl 2
SATERETE AEE

TER TRHUTE 9ed
gy R

JYTY % 9T

P ¥F & o B SR fF T A B R
ol HHRE



B Hartog commission
Hilton Young Commission

Hunter commission

Q.No: 8 Which of the following is not the objective of the Union Budget 2021-22?

A Infrastructure

B Money Laundering

C Innovation and research
D Health and wellness

Q.No: 9 Who has started the *Satyagrah Against Pollution” movement?

A Viral Desai
B Anshul Jain
Cc Virat Chandra
D Rajesh Bindal

Q.No: 10 The terms Carnatic and Hindustani are found for the first time in Haripal's

Nritya Sudhakar
Sangeeta Diwakar

Sangeeta Sudhakar
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Nritya Diwakar

Q.No: 11 At which of the following places, the Gomateshwara statue is located?

A Saravanabelgola
B Kalinga

C Kushinagar

D Mount Abu

Q.No: 12 Select wrong statement about BHIM

A The app is developed by National Payments Corporation of India
B It's full form is Bharat Interface for Money

C It is based on UPI

D It's release date was 30 November 2016

Q.No: 13 The raga ‘Miya Malhar is a wonderful creation of

Tansen
Amir Khusro
Pandit Jasraj

Mirabai
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Q.No: 14 A musical instrument which is made up of two similar pieces of wood with brass fittings, is called

A Mashak

B Khartaal/Khadtaal
C Chimta

D Kirla

Q.No: 15 Who among the following is the author of the book Turn A Blind Eye?
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Q.No: 23

Jeffrey Archer
Serena Williams
Salman Rushdie

Robin Williams

The Damodar River which is also known as 'Sorrow of Bengal' flows through how many states?

Three
One
Two

Four

Birju Maharaj is a leading exponent and torch-bearer of ______ dance form.
Kathakali

Lavani

Kathak

Sattriya

Commercial bank has no right regarding which of the following?
Transfer of funds

Determing Bank Rate Policy

Extending Loans and Advances

Acceptance of deposits

‘72 Melakartas’ of Carnatic music was written by-

Purandardas
Venkatamakhi
Syama Sastri

Muttusvami Dikshitar

Who was responsible for the longest-running Amul ads throughout recent decades?

Dr Hiralal Chaudhuri
Dr Verghese Kurien
MS Swaminathan

Dr Arun Krishnsnan

Which one of the following is an exception?
sandworm

leech

earthworm

tapeworm

Which one of the following remains constant while throwing a ball upward?
Velocity

Acceleration

Displacement

Potential energy

Which one of the following is not an example of algae and bacteria respectively?

mosses and firs
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B E. coli and spirogyra
C Laminaria and E. coli
D spirogyra and cedar

Q.No: 24 Which one of the following is not the type of combustion?

A Spontaneous combustion
B Slow combustion

C Explosion

D Rapid combustion

Q.No: 25 is the movement of a group of animals from one region to another usually seasonally.
A Seasonally

B Migration

Cc Active

D Passive

Q.No: 26 What are the harmful effects of global warming?

A Droughts cannot occur as a result of global warming.
B Global warming can cause significant sea-level rise.
C Flood cannot occur as a result of global warming.

D People facing breathing problems.

Q.No: 27 A chemical change is and
A temporary, reversible

B permanent, reversible

(o} permanent, irreversible

D temporary, irreversible

Direction: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have
to examine these two statements carefully and select the correct answer to the question from the given options.

Q.No: 28 Assertion: (A) ducks, gulls, ostriches, and hawks belongs to the same class.

Reason: (R) All of them possess feathers, lays eggs with a shell.

A (A) is true and (R) is false

B (R) is true explanation of (A).

C (R) is the wrong explanation of the assertion (A).

D (R) is true and (A) is false

Q.No: 29 Rama is a native of such a place where he experiences heavy rainfall throughout the year.He lives near which of the following
forests ?

A Temperate deciduous forests

B Tropical evergreen forest

C Tropical deciduous forest

D Temperate evergreen forests

Q.No: 30 ___ does not conduct electricity.

A Dirty water

B Salty water

C Pure water

D Tap water

Q.No: 31 is used for the reliable collection, separation, storage and transport of blood.
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Plastic carry bag
Plastic straws
Plastic cutlery

Blood bags

Match the following:

1 Single-celled a Fungi

2 Chlorophyll absent, saprophytic b Algae

3 Chlorophyll present c Bacteria
1-a, 2-¢,3-b
1-a, 2-c, 3-b

1-b, 2-a, 3-c

1-c, 2-b, 3-a

What is the SI unit of pressure?
Kelvin

Newton

Ampere

Pascal

Which one of the following is not a food material obtained from animals?
Meat
Milk
Eggs

Fruits

A is the fossil fuel formed by the dead and decayed ancient marine organisms.

Petroleum
Diesel
Natural gas

CNG

In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the
options given below the series in the same order as they should be. Study the given series carefully out of
the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

m__m__mn_ nm__
nnmm
mmnn
nmmn

nnmn

Rajat leaves for his office from his house. He walk towards east, and covers a distance of 30m. He turn south and walk 14m.
Q.No: 37 Then he turns right and walks 40m and further walks 7 m towards north. He then turn towards east and walks 10m what is

the straight distance between his initial and final position.
14 m

7m

i5m

30m
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Select the letter-cluster that can replace the question mark (?) in the following series.

R Ye § 99 HeR-THg $ 797 B S

Q.No: 38
Z, X, V,?,R,P? Z, X, V,?,R, P ?
A S, U S, U
B S,N S, N
C T, N T, N
D T, 0 T, 0
Given guestion has main statement followed by four statements. Choose the ordered pair of statements, where the first few o gy A T $YT 3R I 18 TR FU §
statement implies the second, and the two statements are logically consistent with the main statement. qBT DYq JTE R
The friends brought for her either a perfume or a watch ST 39S 1T U 39 U1 T U dlY
Q.No: 39 A The friends brought for her a perfume A. GRd 39 T TRIGH TR T
B. The friends did not bring for her perfume B. IR 3P I IRWgH AP g1 31T &
C. The friends brought for her a watch C. &I 39& g ﬂ?ﬁ ey
D. The friends did not bring for her a watch D. TR I9% e vt 78t g &
A DA DA
B AB AB
C BD BD
D AC AC
Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first Rumwuy # HBT HYF IR IUF T8 IR HUF §
statement implies the second, and the two statements are logically consistent with the main statement. T pYA J a §
The university is either autonomous or deemed fayferamer on Y wara a1 € §
Q.No: 40 A. The university is not autonomous A. fayfeemer w51 3
B. The university is deemed B. fayfaemem S &
C. The university is not deemed C. e e &
D. The university is autonomous D. faxyfaemr w@mm §
A BD BD
B CA CA
C DA DA
D AB AB
Q.No: 41 Choose the correct mirror image of this combination- WATIT. 3 WIS 3T T8 qUU B - WAIT
A WTIA WTIA
B TWAI TWAI
c TIAW TIAW
D WITA WITA
In the following question, select the related word from the given alternatives. frafarad uy # T T fawed & & daifia wsg
Q.No: 42
Pen : Write :: 7 : ? Pad ; foRg 202
A Knife : Cut qTE : BleHT
B Cup : Liquid Y RA
(o} Pencil : Wood U : m
D Ink : Marker T AR
Q.No: 43 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first feu Oy & T HYq IR IYF 918 IR FU |
statement implies the second, and the two statements are logically consistent with the main statement. T Y9 J 9 g
They are either European or Americans J gy A & T sARat
A. They are European A R E

B. They are not European B. § ol 7 §
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Q.No: 50

C. Iney are Americans

D. They are not Americans
DA
AB
BD
AC

Choose the correct mirror image of this combination- EWRDC243UT.
TUELEOAAW T
TULRLOAW AT
TUELLOAATW
TULLOAaQwW

Choose the correct mirror image of this combination- DTYXG781HGI.
TOHIgTOXYAT
IOHIZTOT Y XA
IoHIEYOZXYTd
IOHIgTOYXTd

Raj walks straight towards the west, then turns left after a short distance, and again turns left after a short distance. What is
her current direction?

South
North
West

East

Choose the correct mirror image of this combination-456782EGFXGSIHVKV5796453ESXGF.

JOX2de2HoRT2V AVHI2DXTDI T80zt
T0X2de2HeT2VIIVHIZDXTDIL220TH
A0Xe2dz2-0RT2VAVHIZOX DA L2Vl
ToX2dezkorteVATHIZDXTDIL8 20

Select the option that is related to the third word in the same way as the second pair is related to the first pair.
Cube : Cuboid :: Square : ?

Quadrilateral

Rectangle

Triangle

Rhombus

Select the Lettered pair that has the same relationship as given in the question:
Cream : Cosmetics

Teak : wood

Magazine : Editor

Mountain : Valley

Tiger : Forest

Select the Lettered pair that has the same relationship as given in the question:

Platform : Train
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A Aeroplane : Aerodrome FATS SIgTol: gaTg gl
B Footpath : Traveller Uiy : Tt
c Quay : Ship T : Y SIgTo
D Hotel : Tourist giea : Wew
In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the frofafaa uy & sierl @t v yaen € T 8134
options given below the series in the same order as they should be. Study the given series carefully out of BT T1fenl Y iU U 9R e # A § . %
9 s the four alternatives given below, and find the one that best fits in place of the missing letter of the series. Bl
.No: 51
ba__ba__bac__acb__cbac ba__ba__bac__acb__cbac
A bcba bcba
B cbac cbhac
(o} ccba ccba
D bbca bbca
Which of the options is the exact mirror image of the given figure when the mirror is held at the right side? S 1 fadeq §f T o o1 G v fafda
M M
Q.No: 52 @
N N
A @
Q.No: 53 Romit told Rohit,"Yesterday I defeated the only brother of daughter of my paternal grandmother.” Whom did Romit defeat? it 7 Afea § Fa1, T A o I B A
A Brother 'H’I%
B Cousin Hhm
(o} Father o
D Son T
No: 53 Rama walked 30m to the south of her house, Rama turns left and goes another 10m. Then, turning to the north, she goes AT U W 2 3 3R 30 W e g, 19
Q.No: 15m. From there she moves towards her house and starts walking in its direction. In which direction is she walking now? SO W B IR Tﬁ?ﬁ ¥ 3R I femm # g @
A South-West gfaror-ufim
B North-East W—‘Ef
[¢] North-west IcR-ufim
D South- East a‘f\&fUT-TET
Q.No: 55 B is brother of D. D is brother of E. E is son of F. How is F related to B? B,DBTUERID, EFTHUE BIE, FRITAGIF
A Mother or father Tran a1 far
B Sister CEGH
C Brother ‘I-ITQ
D Data inadequate 32T uafe



There are three sections A, B and C of class 122, If number of studentsin section A, B and ;
Q.No: 56 Care95,209 and 171 respectively and average marks of section A, B and C in an exam are 123;?1&;% ;ﬁ:{ &gﬂn A .BB\;W;BZ 3;?53%{
83, 78 and 85respectively. What is the average marks of Class 12%? B B

83.78 83.78
80.34 80.34

81.52 81.52

o 0 W >

80.66 80.66

Ko: 57 A man purchase a motorcycle for Rs.50000 and spent Rs.10000 on its overhauling. Then he sold it at Rs.80000. How much T &R 3 50000 U8 & U HleTwgibd Wit
Q.No: percentage of profit did he gain? I e gfe=id @ geim?
60% 60%

33.33% 33.33%

25% 25%

[w 2 o T - S

62.5% 62.5%

A shopkeeper paid Rs 180 per litter for 20 litter of mustard oil and Rs 500 per litter for 25 litter of olive oil. He sold 15 litter of T® gHMaR A 20 THex T4l & dd & fow 180
Q.No: 58 olive oil for a 25% profit. Half of the remaining olive oil sold at 10% loss, while the other half sold at 20% profit. He made qAH R 15 AR eﬁff EaGGEE uwéa:—r P13
total 15% profit on mustard oil sales. Determine his overall percentage of profit. R P 15% I HHAT| ISP AH ST o Ul

9.16% 9.16%
19.65% 19.65%

14.20% 14.20%

o 0O W »

16.55% 16.55%

If a sum of
money Rs.
12610 is
divided
among

Ram,
Shyam and
Suresh in
such a
manner that
when placed
at CI,
amount
obtained in
each case TG 12610 YU BI AR BT AW, T 3R T & o9 39 g J faufora fovan o & 5 o9 I 1 Ipafa <are R 31 i §, < U w7 ored 1 aRie gielt & oafd
remains M &1 o I e
equal while
the rate of
interest on
each part is
5% and
time period
for each
partis 4
years, 5
years and 6
years
respectively.
Find Ram'’s
share?

Q.No: 59

Rs.4000 4000 303
Rs.3700 3700 ¥Wd
Rs.4410 4410 31

o 0 W »r

Rs.3000 3000 ¥9d

Q.No: 60 John sold an item for Rs 1560 and earned a profit of 25%. Find the cost price of the item. ST 9 1560 TUA & U axg S 3R 25% BT T
A Rs 1568 1568 ¥
Rs 1346 1346 ¥0
Rs 1236 1236 ¥UY

O 0O w

Rs 1248 1248 ¥



Q.No: 61
A

B
C
D

Q.No: 62
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Q.No: 64
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Q.No: 65
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Q.No: 66
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Q.No: 67
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Q.No: 68

Rahul spends 72% of his income and also able to save Rs 3360 per month. Find his monthly income in rupees.
10,000

12,000

6,000

16.000

Find the interest rate per annum, if the amount is 2.89 times of the sum after 2 years at compound interest (compound
annually).

66 %
70 %
42 %
50 %

Ashu had 24 pagesto write. By the evening he had completed 25% of his work.
How many pages wereleft?

15 pages

20 pages

18 pages

12 pages

Anmol sold a jacket to Barun at a gain of 20% and Barun sold this jacket to Chirag at a loss of 10%. If Chirag pay Rs 6480,
find how much did Anmol paid for that jacket?

Rs 5000
Rs 6000
Rs 6400
Rs 5600

If 10% of the people of a village died due to corona, then the number of people left in the village is only 56160. How many
people lived in the village earlier?

61400
62200
61200
62400

In the first 10 overs of a cricket game, the run rate was only 3.2, What should be the run rate in the remaining 40 overs to
reach the target of 282 runs?

7.25
6.75
6.5

6.25

A sum amounts to Rs. 9875 at 20% per annum in 2 years, compounded annually. Find the sum.
Rs.81075.04175

Rs.4587.7231

Rs.9829.3472

Rs.6857.6388

Five glasses of 100 ml each. How much is it?
1 decalitre

1 millilitre

TG T 3T BT 72% T el § 3R ufer A
10,000

12,000

6,000

16.000

i 3 S &R I BT, Al Tl st (o

66 %
70 %
42 %
50 %

1Y & U fere & e 24 T Q1 =E A
fem e

1549

20 I

18 I

12 9%

S 7 U Side T30 Bl 20% AT TR S of
ST A I e F g e yrar faar o

5000 ¥4
6000 U
6400 T
5600 IUY

Tfe fordll T & 10% TR HRIAT S SR TR T

61400
62200
61200
62400

T fhdre 79 & Ugd 10 SRl § T Y€ %ad 3

7.25
6.75
6.5

6.25

e THgle R W 20% e = Bt R I
Rs.81075.04175

Rs.4587.7231

Rs.9829.3472

Rs.6857.6388

100 fieficiier & Fa uig Rar €1 55®1 oo e
1 IFTAIR
1 firefieftex



Q.No: 69

Q.No: 70
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Q.No: 71
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Q.No: 72
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Q.No: 73

o 0O @

Q.No: 74

1.
= liter
2

1 decilitre

What will come in place of question mark (?) in the following expression?
1482 + 1082 + 242 =7
11 33 55

104
280—

165
104
165

279

278 %
165

281 &
165

A sum of money amounts to Rs. 1352 in 2 yr. at 4% per annum of compound interest. The sum is
Rs.1200
Rs. 1296
Rs. 1280

Rs. 1250

Which of the following will come in the place of question mark?
aabca - bcaab - aa-caa-c¢

acbb

acac

bbaa

bbac

In the question given below, some statements are given followed by few conclusions. You have to consider the statements to
be true even they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if
any follow from the given statements.

Statements:

Some medicines are tablets.

All tablets are effective.
Conclusions:

1. Some tablets are effective.

II. No medicine is effective.

only conclusion I follows

only conclusions II follows
either conclusion I or II follows

both conclusion I and II follow

In a code language, YOGHURT is written as 251578211820. How will DEVELOP be written as in that language?
45225121515
45215121516
45225111516
45225121516

Nisha is taller than Suja. Nina is taller than Nisha. Nila is taller than Nina. Misha is the tallest of all. If they stand according to
their height, who will be in the middle?

Nina

Nila

1

(X%}

AT saes # 9T B
1482 + 1082 + 242 7
11 33 55

104
280—

165
104
165

279

2782
165

281 %
165

TG AT F 4% NN F RO I 2a8 A 7
1200 ¥
1296 ¥4
1280 ¥0
1250 ¥0

fofafEa & 9 o1 yyaras g & ®H W 3
aabca - bcaab - aa - caa-c

acbb

acac

bbaa

bbac

I feu MU Uy B, $T FY IR I 918 FO T
STHT TE T AT § 16 Ru MY Fyepnl & -

H:

FE Targal Mt ¥
wf MR gurdt §1
freed:

1. $9 Tfem’ gurdt €1
II. $TE a1 SRReR T 31

Pael Frspd I SITHRT BT §
Faa e 1T SRy o3aT 8
1 freed 1 AT 1T SR T €
faeed 1 3R 11 Y R FRa &

fordt e U B, YOGHURT &1 25157821182
45225121515
45215121516
45225111516

45225121516

T, gor & ot &1 =, e & ot @1 e,
M J 3l g % SGER TS B §, A A T

EiEl
e



Q.No: 75

o 0O @ »

Q.No: 76

o 0 w »

Q.No: 77

o 0O w >

Q.No: 78

O 0O w

Q.No: 79

Suja
Nisha

Find the missing term.

8 11 9
7 6 2
5 8 12
238 | 669 ?

1728

2744

2179

1813

In each question below, two statements are given followed by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

All bullets are guns.
Some pens are guns.
Conclusions:

I. No pen is a gun.

I1. All pens are bullets.

Only conclusion I follows

Either conclusion I or II follows
Neither conclusion I nor II follows

Only conclusion II follows

Seven kids V, I, B, G, Y, O and R- are standing in a row during a sports meets. Y is to the immediate left of I. V is to the left of
B but not between B and I. Exactly four kids are standing between B and I. If V and G have two kids between them, how

many kids do O and R have between them?

3

1
2
1]

If '"MACHINE' is coded as '19-7-9-14-15-20-11", how will you code 'DANGER'?

11-7-20-16-11-24
13-7-20-10-11-25
13-7-20-9-11-25

10-7-20-13-11-24

Find the missing term.

4 8 2 6 4 2
| I
886 2
3 ! 203 (I) 1
756
475
625

I 9< F1d BTl
8 11 9
7 6 2
5 8 12
238 | 669 2

1728
2744
2179
1813

Y 3w U vl Uy F &) Hu oIk 3P 916 1
Tt § i vl g1 81 Wt el & 08 ek
DI PP Y A IR Rl B

DY

gy Mferal sgdb &1

S PHUH SGP T

ﬁﬁﬂf:

1. B $a¥ §gH T 81

1L ot waw et ¥

Fad ey 1 R0 I §

a1 Y feed 1 a1 11 3R BRan @
A g 178 11 g B §
Faat Frepd 1T SIeRY Fvar &

FaTAV, 1, B, G, Y, O 3R R- Th Td F GRI
3% IR 9 B qYT 1 & 9 TS 71 A v quT

3
1
2
0

& 'MACHINE' ®1 '19-7-9-14-15-20-11" Gt
11-7-20-16-11-24

13-7-20-10-11-25

13-7-20-9-11-25

10-7-20-13-11-24

qw U I BTl

4 T 2 6 ‘i
886 9

SN,

756

475

625



Q.No: 80

o 0 w >

Q.No: 81

o 0O ®w »

Q.No: 82

o 0O @

Q.No: 83

o 0 o >

Q.No: 84

o 0 w >

Q.No: 85

o 0 & »

Q.No: 86

606

Find the missing term.

324 R

< < X N

Heavier coins are costlier. Ram’s coin is heavier than Mohan’s and costlier than Ramesh’s. Naresh'’s coins is costlier than Ram'’s

but lighter than Yogesh’s. Ramesh’s coin is costlier than Mohan’s. So who is the owner of the costliest coin?
Naresh

Yogesh

Ramesh

Ram

If code P is denoted by 7, X by 9, M by 5, Z by 8, Lby 2, T by 1, then ZLTPXM will be:
821591
812851
812715
821795

Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

xy_kx_zk_yzk xyz_
zxyk
zykx
zyxk
zkxy

M eats faster than N but eats slower than K. A eats slower than N. B eats faster than K. Who among them eats the fastest?

B
A
Data inadequate

K

Select the option that is most like the given set.
(23, 136, 45)
(29, 78, 11)
(19, 96, 29)
(17, 50, 33)
(31, 126, 37)

Find the area of the triangle with base 1.8 cm and height is 2.4 cm?
10.8
1.06

606

< < X N

U e 187 S &1 19 1 Ryaet miga & R
Ryl T geepl 81 A 1 Ryt Hie & g §

Erey
YT
L)
kit

g p, 7 B A B, X, 9 B TR, M, 5%
821591
812851
812715
821795

3Rl BT B T GHg T VMl TR HHIR 3@

xy_kx_zk_yzk xyz_
zxyk
zykx
zyxk
zkxy

M, N § e It § e &, A K it gan 2
I QBN e ISl Tl 82

B
A
STeT vt
K

13U U fapedl # & I TS-THE B1 T Bifen
(23, 136, 45)
(29, 78, 11)
(19, 96, 29)
(17, 50, 33)
(31, 126, 37)

By &1 &9%d T I ot SfiuR 1.8 4%
10.8
1.06



Q.No: 87

o 0O wm »

Q.No: 88

O 0O W

Q.No: 89

O 0O w

Q.No: 90

o 0O w

Q.No: 91

o 0o w

Q.No: 92

Q.No: 93

2.16
21.6

If the length of a rectangle is increased in the ratio 4 : 5 and its breadth is decreased in the ratio 3 : 2, then its area will be

decreased in the ratio
4:3

2:1

10: 3

6:5

Find the greatest possible length which can be used to measure exactly the lengths 4 m 95 cm,9 m and 16 m 65 cm.

47
49
41
45

Which of the following is divisible by 5 and 3?
67235
65875
34795
76875

Which of the following is divisible by 10?
59743950

589007642

5321578005

5789643356

Which of the following is divisible by 14?
7422
2362
5404
3761

Simplify:

49

- =?
33X e x16x81 ™

74 /63
7%/6°
75767

7%/67

If x =5+ 2v6, then value ofﬁ—\%is:

2v3
V3—- V2
V3+vV2
2v2

2.16
21.6

gfe; SR BY AGIE 4: 5 F UK H 7 Ol § &

4:3
2:1
10: 3
6:5

T T YT TS T DA, foraeT Iud 4
47
49
41
45

Frafafed # § o1 5 @R 3 9 faursa g2
67235
65875
34795
76875

Frofifed 7 § $1 10 3 faursa 32
59743950

589007642

5321578005

5789643356

i & o 14 3 Ry 82
7422
2362
5404
3761

Wellpd W

49

—_— =2
33X e x16x81 =

74 /63
7°/6°
75767

7°/67

IRy x=5+2\/g,%3’f\/§—\/% A

2v3
V3- V2
V342
2V2



Q.No: 94 The sum and LCM of two numbers is 132 and 360. Find the both numbers.

A 40, 96

B 60, 72

C 60, 84

D 42, 86

Q.No: 95 If% =tx 70f9 + 32, are="
A 0

B 1

C 1.25

D -1

What value would come in place of the question mark (?) in the following equation?

Q.No: 96 ? ?
175 % of 460 + 110% of 170 +2° = 10°

2
5
4
3

o 0O w >

Q.No: 97 The sum of the present ages of a girl and her mother is 66 years . Her father is 8 years older than her mother and
e the sum of their ages is 96 years. Find the average age of the family ?

39 years 4 months
33 years 6 months

32 years

o 0w >

33 years 4 months

Q.No: 98 The LCM of two multiples of 13 is 1716. If one of the number is 156, the other number is:

A 171
B 143
C 140
D 160

Q.No: 99 The Sum of 4 consecutive odd numbers is 80. Find the least humber?

A 32
B 23
C 21
D 17

Q.No: 100 Three pens and four erasers cost Rs. 18. Four pens and three erasers cost Rs. 17. Find the cost of 14 pens and 14 erasers.

3 Wit o1 9 ok 9.9.9, HAN: 132 9k 3
40, 96
60, 72
60, 84
42,86

24 +6% 80 .
qﬁm— t X 70f9 + 32,

o
1
1.25

-1

Frafefea wxfiexo & nyers R (7) >

460 T 175% + 1707 110 % +27
2
5
4
3

TP TSP SR ID! A1l B! qAM 31 BT
T 96 Y B1 URAR F S oY T SR

39 af 4 7EH
33 af 6 T
3294

339§ 4 TR

13 % 3 Ul & T T 1716 ¥1 A T ©
171
143
140
160

AR 4 fawm Gesit 1 9 80 ¥, grad I
32
23
21
17

@1 39 9k IR 98 @ FiEd 18 T §l AR 1
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A Rs. 70
B Rs. 40
[o} Rs. 50
D Rs. 60

70 %.
40%.
50 %.

60 %.



